D1vISION WITH A REMAINDER II (H - SET 3)

DIVISION WITH -10 0 10 1;?;1: Score: y—
) —5404 + 2 = 136 —33052 =4 =
122) —54448 + (—=8) = 5794363 + 10 =
23 —7622 = (—1) = 39 4387 + (=3) =
121) —8656 = 9 = 139) —H715 =7 =
125 —11430 + 5 = o) —32210 + (—=8) =
260 —9261 + 2 = uy 47708 = (—8) =

21 —28467 + (—8) =
28 —27583 + (=5) =
20 56852 < 6 =

130) —39389 =5 =

B 18674 + 6 =

) 695+ (—1) =

33 —9635 + (—1) =
B 824 = 3 =

) —31556 = (—4) =

Mathematics: Division - Level 8 - Horizontal - Set 3
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7963 = (—3) =
7967 = (—7) =
—10143 = 7 =

—11+1=

—26158 = (—3) =

45323 = 7 =
24504 + 4 =
—5200 = (—8)

—31443 + 5 =
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